Mg d

IBC HIGH PRECISION MINIATURE BALL BEARINGS 676869/~ <] &

FialineiZ i 2 S )
; - | - oo | AR $iEk 25 )
ot |ohig| ZH | s 3 AT E | A u
9I\1§-<; > E zfﬁmg ifﬁ [I]E ?f%[[]g *%Tﬂg *ﬁ'ﬁﬁ 1%};#‘53 ‘{f% ¥£Fﬁ
- 3 EHBE MWAE | oil | DR ({EER| B |BE B | s
S e T L] O O e zw | ZW " e e | crwy | corny [T gl it 1 i e - 521
)ingi ” [(2RS)| (2RU) | (TTS) =1000rpm Z | Dw g
06|25| — | 005 |10 — |68/0.6| — - - - | - - - 68 16 142 [160| W | 5 |0.500| 0.02 | — — -
1.0 38 | 005 |1.0| 0.3 | 681 | F681 — — - - =-1-| - 96 26 130 (150 | W 0.600| 0.03 | 0.04 | — —
— | 005 |15 — |[MR31| — — — - | - - - 96 26 130 | 150 | W 0.600| 0.05 | — - -
50 | 0.10 |1.6| 05 | 691 | F691 - — - -1 =-1-1 - 141 37 100 [ 120 W 0.800| 0.11 | 0.14 | — -
12| 4 | 48 | 0.10 | 1.8| 0.4 |MR41X|MF41X| MR41XZZ - - | - 25| — 112 33 110 | 130 w | 7 |0.600| 0.10 | 0.12 | 0.14 | —
15| 4 | 50 | 005 |1.2| 0.4 | 681X |F681X| 681XzZZ | F681XzZ| — | — | — |20 0.6 112 33 100 [ 120 W 0.600| 0.10 | 0.12 | 0.14 | 0.17
65 | 0.15 | 2.0| 0.6 | 691X |F691X| 691XzZ | F691Xzz | — | — | — |2.6| 08 169 50 85 |100| W 1.000| 0.20 | 0.26 | 0.25 | 0.33
6 | 75| 0.15 | 25| 0.6 | 601X |F601X| 601XzZZ | F601XzZ| — | — | — |3.0| 0.8 330 99 75 | 90| W | 6 [1.200| 0.31 | 0.38 | 0.40 | 0.50
20 4| — | 005 |12 — | 672 | — 67227 - - | = | = |20 124 40 91 |104| w | 8 |0.600| 005 | — | 007 | —
5 | 61| 008 15| 05 | 682 |F682 | 6822z | F682zz | — | — | — |23]| 06 169 50 85 (100 w | 6 |0.800| 0.15 | 0.19 | 0.20 | 0.24
5 | 62| 010 [20| 0.6 |MR52|MF52 | MR52zZ | MF52zz | — | — | — |25]| 06 169 50 85 |100| w | 9 |0.800| 0.14 | 0.19 | 0.20 | 0.25
6 | 75| 015 | 23| 06 | 692 | F692 | 6922z | F692zZ | — | — | TTS|3.0| 0.8 330 99 75 |90 | w | 6 |1.200| 0.28 | 0.35 | 0.35 | 0.45
6 | 72| 015 | 25| 0.6 | MR62 | MF62 | MR62ZZ - - - | = |25 330 99 75 | 90 | wJ | 6 [1.200| 0.28 | 0.34 | 0.33 | —
7 | 82| 015 | 25| 0.6 | MR72 | MF72 | MR722ZS | MF72zzS| — | — | TTS|3.0| 0.6 386 129 63 | 75| W | 7 |1.200| 0.43 | 0.50 | 0.53 | 0.60
7 | 85| 015 | 28| 0.7 | 602 | F602 | 602zzS | F602zzS| — | — | TTS|3.5| 0.9 386 129 60 | 72| W | 7 [1.200/ 0.50 | 0.60 | 0.60 | 0.73
25| 6 | 71| 0.08 |1.8| 0.5 | 682X |F682X| 682Xz | F682XZZ | — | — 26| 0.8 209 74 71 | 80| W | 8 [0.800| 0.20 | 0.24 | 0.35 | 0.42
7 | 85| 015 | 25| 0.7 | 692X |F692X | 692XzZS |F692XzzS| — | — | TTS|3.5| 0.9 386 129 63 | 75| W | 7 [1.200| 0.40 | 0.50 | 0.55 | 0.68
8 | 9.2 | 020 | 25| 0.6 |MR82X|MF82X - - R I B 558 180 60 | 67| W | 6 |[1.588| 0.52 | 0.60 | — -
8 | 95| 015 |2.8| 0.7 | 602X |F602X| 602Xzz | F602X | — | — 40| 0.9 552 177 60 | 71| w | 6 [1.588| 0.61 | 0.72 | 0.85 | 0.99
30| 6 | 72| 010 | 20| 0.6 | MR63 | MF63 | MR63ZZ | MF63zZ | — | — | — |25]| 06 209 74 71 | 80| w | 8 |0.800| 0.20 | 0.26 | 0.28 | 0.34
8.1 | 0.10 |2.0| 05 | 683 | F683 | 683zZ | F683zZz | — | — | TTS|3.0] 0.8 311 112 63 | 75| W 1.000| 0.32 | 0.37 | 0.45 | 0.53
8 | 92| 015 | 25| 0.6 | MR83 | MF83 | MR83zZ - - | - | - 30| - 395 141 60 | 67| J 1.200| 051 | 059 | 0.67 | —
8 | 95| 015 | 30| 0.7 | 693 | F693 | 693zz | F693zZ | — | — | — |40 0.9 558 180 60 | 67 V¥Vf/ 6 |1.588| 0.60 | 0.71 | 0.80 | 0.94
9 |10.2% %'21% 25| 0.6 |MRO3|MF93 | MR93ZZ | MF93zz | — | — 40| 08 | 571 189 | 56 | 67| W | 6 |1.588| 0.75 | 0.83 | 1.15 | 1.30
9 |105]| 0.15 [3.0| 0.7 | 603 | F603 | 6032z | F603zZ | — | — | — |5.0] 1.0 571 189 56 | 67 | W 1.588| 0.84 | 0.96 | 1.13 | 1.61
10 |115| 0.15 | 40| 1.0 | 623 | F623 | 62322 | F623zZ | 2RS | 2RU | — |4.0| 1.0 631 219 50 | 60 | J,TW 1.588| 1.45 | 1.65 | 1.65 | 1.85

http://www.ibc.com.tw/pds/ibc/5/011/ibcBiSE2fHA IS % 2.htm 55 1 H / 3£ 3 [2009/3/9 b/F 09:03:10]



http://www.ibc.com.tw/pds/ibc/5/676869/676869.htm

Mg d

13 — 0.20 | 5.0 - 633 - 63327 — 2RS | 2RU | — [5.0 — 1301 488 40 | 48 J 7 12.381| 3.27 - 3.43 —

40| 7 | 82 | 0.10 (20| 0.6 | MR74 | MF74 - — - — - — — 311 115 60 | 67 W\ 8 |1.000| 0.23 | 0.30 - -
7 |82 010 | — — — — MR74ZZS | MF742ZS | — — — 25| 0.6 255 108 60 | 67 W 11 (0.800| — - 0.33 | 0.40

8 | 9.2 %]i% 20| 0.6 | MR84 | MF84 | MR84ZZ | MF84zZ - - — | 3.0 0.6 395 141 56 | 67 V'I\'/V\\]/ 7 11.200( 0.39 | 0.47 | 0.56 | 0.64

9 |10.3| 0.10 (25| 0.6 684 | F684 68477 F684zZ | 2RS | 2RU | TTS [ 4.0 | 1.0 641 227 53 | 63 7 |11.588| 0.65 | 0.74 | 1.00 | 1.15

10 |11.2* %21% 3.0| 0.6 |MR104|MF104| MR104ZZ | MF104ZZ | 2RS | 2RU | — |[4.0| 0.8 711 272 48 | 56 J 8 |1.588| 0.96 | 1.04 | 1.33 | 1.50

11 | 125| 0.15 | 4.0| 1.0 694 | F694 69477 F694zZ | 2RS | 2RU | — [4.0| 1.0 957 350 48 | 56 J 7 12.000f 1.69 | 1.91 | 1.75 | 1.97

12 1 13.5| 0.20 | 4.0| 1.0 604 | F604 60427 F604zZ | 2RS | 2RU | — [4.0| 1.0 957 350 48 | 56 J 7 12.000| 2.19 | 2.42 | 2.34 | 2.57

13 | 15.0| 0.20 (5.0 1.0 624 | F624 62477 F624zzZ | 2RS | 2RU | — |[5.0| 1.0 1301 488 40 | 48 J 7 (2.381| 3.10 | 3.44 | 3.20 | 3.54

16 | 18.0| 0.30 (5.0 1.0 634 | F634 63477 F634ZZ | 2RS | 2RU | TTS | 5.0 | 1.0 1340 523 36 | 43 J 7 12.381| 5.24 | 5.66 | 5.44 | 5.86

50| 8 | 9.2 | 010 (2.0 0.1 | MR85 | MF85 - - - - - - - 308 120 53 | 63 W 8 [1.000| 0.25 | 0.33 - -
9.2 | 010 | — — — — MR85ZZS | MF85Z2ZS | — — | TIS 25| 0.6 218 90 53 | 63 W 9 [0.800| — - 0.34 | 0.42

9 | 10.2| 0.15 | 25| 0.6 [ MR95 | MF95 [ MR95ZZS | MF95ZZS | — — | T1S | 3.0| 0.6 431 169 50 | 60 w 8 [1.200| 0.54 | 0.62 | 0.58 | 0.66

10 (11.2*| 0.15 [ 3.0 0.6 |MR105|MF105| MR105ZZ | MF105ZZ | 2RS | 2RU | — [4.0| 0.8 431 169 50 | 60 w 8 |1.200| 0.91 | 1.00 | 1.26 | 1.38

11 | 12.6| 0.15 | — - - - MR115Z7 | MF115ZZ | 2RS | 2RU | — |[4.0| 0.8 716 282 45 | 53 J 8 |1.588| — - 0.62 | 0.81

11 |125| 0.15 | 3.0 0.8 685 | F685 68577 F6852Z | 2RS | 2RU | — |5.0| 1.0 716 282 45 | 53 | J,TW | 8 |1.588| 1.16 | 1.33 | 1.93 | 2.15

13 | 15.0| 0.20 |4.0| 1.0 695 | F695 69527 F695ZZ | 2RS | 2RU | TTS | 4.0 | 1.0 1077 432 43 | 50 J 8 |2.000| 2.39 | 2.73 | 2.31 | 2.65

14 | 16.0| 0.20 | 5.0 1.0 605 | F605 60527 F605z2Z | 2RS | 2RU | — |5.0| 1.0 1329 507 40 | 50 | J,TW | 7 |2.381| 3.46 | 3.83 | 3.75 | 4.12

16 | 18.0| 0.30 | 5.0 1.0 625 | F625 62577 F625ZZ | 2RS | 2RU | TTS | 5.0 | 1.0 1729 675 36 | 43 | JTW | 7 |2.778| 495 | 5.37 | 5.10 | 5.52

19 | 22.0| 0.30 |6.0| 1.5 635 | F635 63527 F635ZZ | 2RS | 2RU | — |6.0| 1.5 2336 896 32 | 40 [ JJTW | 6 |3.500| 8.50 | 9.26 | 8.89 | 9.65

6.0 10 | 11.2 %11% 25| 0.6 |MR106|MF106|MR106ZZS|MF106ZZS| — — | TIS|{3.0| 0.6 496 218 45 | 53 w 10 (1.200| 0.55 | 0.64 | 0.70 | 0.79
12 |13.2* %21% 3.0| 0.6 |[MR126|MF126| MR126ZZ | MF126ZZ | 2RS | 2RU | — | 4.0| 0.8 716 295 43 | 50 | J,TW | 8 |1.588| 1.25 | 1.44 | 1.66 | 1.86

13 | 15.0| 0.15 35| 1.0 686 | F686 686272 F686ZZ | 2RS | 2RU | TTS | 5.0 | 1.1 1082 442 40 | 50 | J,TW | 8 |2.000| 1.87 | 2.21 | 2.68 | 3.06

15 |17.0| 0.20 [ 5.0 1.2 696 | F696 69627 F696ZZ | 2RS | 2RU | TTS | 5.0 | 1.2 1340 523 40 | 45 J 7 12.381| 3.85 | 4.24 | 3.65 | 4.04

17 | 19.0| 0.30 (6.0 1.2 606 | F606 60627 F606ZZ | 2RS | 2RU | — | 6.0| 1.2 2263 846 38 | 45 J 6 [3.500| 5.94 | 6.47 | 6.89 | 7.42

19 | 22.0| 0.30 (6.0 15 626 | F626 626722 F626ZZ | 2RS | 2RU | TTS | 6.0 | 1.5 2336 896 32 | 40 | JJTW | 6 |3.500| 8.12 | 9.25 | 8.65 | 9.78

22 - 0.30 | 7.0 — 636 - 63627 - 2RS | 2RU| — | 7.0 - 3333 1423 30 | 36 | J,TW | 7 [3.969| 13.9 — 14.5 -

7.0 11 | 12.2 %1150 25| 0.6 |MR117|MF117|MR117ZZS|MF117ZZS| — — | TS | 3.0| 0.6 455 202 43 | 50 W 9 |1.200| 0.59 | 0.69 | 0.71 | 0.81
13 |14.2* %21% 3.0| 0.6 |MR137|MF137| MR137ZZ | MF137ZZ | — — | TTS | 4.0| 0.8 541 276 40 | 48 W 12 (1.200| 1.52 | 1.64 | 2.01 | 2.17

14 | 16.0| 0.15 | 3.5 1.0 687 | F687 68727 F687ZZ | 2RS | 2RU | TTS | 5.0 | 1.1 1173 513 40 | 50 J 9 |2.000| 2.03 | 2.40 | 2.95 | 3.35

17 | 19.0| 0.30 | 5.0 1.2 697 | F697 69727 F697ZZ | 2RS | 2RU | — |5.0| 1.2 1605 719 36 | 43 J 9 |2.381| 5.26 | 5.79 | 5.01 | 5.54

|
http://www.ibc.com.tw/pds/ibc/5/011/ibcBi SE2fHA IS % 2.htm 55 2 H / 3£ 3 [2009/3/9 b/F 09:03:10]



Mg d

19 | 22.0| 0.30 |6.0| 15 607 | F607 60722 F607ZZ | 2RS | 2RU | TTS [ 6.0 | 1.5 2336 896 36 | 43 | JTW | 6 |[3.500| 7.80 | 8.93 | 8.24 | 9.37
22 | 250 030 |7.0| 15 627 | F627 62727 F627ZZ | 2RS | 2RU | TTS | 7.0 | 1.5 3287 1379 30 | 36 | J,TW 3.969| 12.7 | 14.0 | 13.1 | 14.4
26| — 0.30 [ 9.0 — 637 - 63727 — 2RS | 2RU | — [9.0 - 4563 1983 28 | 34 J 7 |4.762| 24.2 - 25.8 -
8.0 | 12 |13.2* %]i% 25| 0.6 |MR128|MF128|MR128ZZS|MF1282ZS| — — | TIS 35| 0.8 543 274 40 | 48 w 12 (1.200| 0.70 | 0.81 | 0.99 | 1.14
14 | 15.6 %21% 3.5| 0.8 |MR148|MF148| MR148ZZ | MF148ZZ | 2RS | 2RU | — |[4.0| 0.8 817 386 38 | 45 J 10 (1.588| 1.90 | 2.13 | 2.19 | 2.42
16 | 18.0| 0.20 | 4.0 1.0 688 | F688 68827 F688ZZ | 2RS | 2RU | TTS | 5.0 | 1.1 1252 592 36 | 43 | J,TW | 10 |2.000| 3.11 | 3.53 | 4.05 | 4.51
19 | 22.0| 0.30 | 6.0 15 698 | F698 69877 F6982Z | 2RS | 2RU | — |[6.0| 15 2237 917 36 | 43 J 7 |3.175| 7.12 | 850 | 7.57 | 8.70
22 | 25.0| 030 | 70| 1.5 608 | F608 60822 F608ZZ | 2RS | 2RU | TTS | 7.0 | 1.5 3293 1379 34 | 40 | JTW | 7 ([3.969| 11.8 | 13.1 | 12.9 | 14.2
24 | — 0.30 | 8.0 - 628 - 62827 — 2RS | 2RU| — | 8.0 - 3333 1423 28 | 34 J 7 13.969| 17.1 - 18.5 -
28 | — 0.30 | 9.0 — 638 — 63877 - 2RS | 2RU| — | 9.0 - 4563 1983 28 | 34 J 7 |4.762| 28.1 - 30.3 -
9.0| 14 | 155| 0.10 | 3.0| 0.8 679 | F679 | 679ZZS | F679ZZS | — — | TTS | 45| 0.8 919 468 36 | 42 J 12 |1.588| 1.35 | 1.57 | 1.98 | 2.20
17 | 19.0| 0.20 [(4.0| 1.0 689 | F689 68977 F689z2Z | 2RS | 2RU | — |5.0| 1.1 1327 668 36 | 43 J 11 |2.000| 3.41 | 3.85 | 4.38 | 4.87
20 | 23.0| 0.30 | 7.0| 1.5 699 | F699 69977 F6997Z | 2RS | 2RU| — |6.0| 15 2467 1081 34 | 40 J 8 |3.175| 8.38 | 9.57 | 8.54 | 9.73
24 | 27.0| 030 (7.0 15 609 | F609 60977 F6092Z | 2RS | 2RU | — |7.0| 15 3356 1444 32 | 38 J 7 13.969| 14.7 | 16.1 | 16.0 | 17.4
26 | — 0.30 | 8.0 - 629 - 62977 — 2RS | 2RU | — [8.0 — 4575 1983 28 | 34 J 7 |4.762| 19.0 - 21.8 —
30 | — 0.60 (10.0f — 639 — 63977 — 2RS | 2RU | — [10.0] -— 4659 2080 24 | 30 J 7 14.762| 36.2 - 37.1 —

http://www.ibc.com.tw/pds/ibc/5/011/ibcESEAEZR IS ZR2.htm 55 3 T1 / #& 3 [2009/3/9 - 09:03:10]




	www.ibc.com.tw
	內徑  d


